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void scanner(void)
{  unsigned char col,row,dig; //

unsigned char rowkey,kcode;//

// ﬁ‘ﬁ%’ﬁ'gtﬁ'é 4
7 2 % #(col: 7 ,row: 71, dig: g 7 1)
¥ 2 % #ic(rowkey: 74 B kcode: 454 75)

for(col=0;col<4;col++) // for it B ¥ % col =
{ KEYP=scan[col]; // # 4 =iy I 4F Ry %L, 04 4 =~y » 7] (B
SEG7P = disp[col];/ #& 2! % col {7 #F
rowkey = ~KEYP & 0x0f;
// %~ KEYP 4 i » FARL Efcg 4 RO 72E
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if(rowkey !=0) Il F 5 ¥4t
{ if(rowkey == 0x01) row=0; // F% 07T
else if(rowkey == 0x02) row=1; // % % | 7|4~
else if(rowkey == 0x04) row=2; // # % 2 5|4 &7
else if(rowkey == 0x08) row=3; // % % 3 7|4~
kcode =4 * col + row; AR IR ]
for(dig = 0; dig < 3 ; dig++) /] B ]2
disp[dig]=disp[dig+1]; I Y 28
disp[3]=TAB[kcode]; /] BB kB 1S 0 B
beep(1); /] "B -
while(rowkey != 0) I b kR
rowkey=~KEYP & 0x0f; 7N RS-
h
delaylms(4);



